(RN
<

) =
[e>) e
g =
= R e EAis SRS S SR S
S [
S %
©
1072
10°°
9 1.U0 9
IS IS
o o
0.95 0.95 : : : : :
= 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

— original_step. ar-phasel-newgeom

—e— DQM_mkFit_step2_tthar-phasel-newgeom

—— DQM_angle_step2_ttbar-phasel-newgeom

—+— DOM fast_step2_ttbar-phasel-newgeom
IS - IS
S A
> ;N
o]

o

) =
o [s]

H
S
L

T
e
rititte ! T

=3 -2 -1 0 1 2 3 -3 -2 —1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

Ratio
=

wllll!llll_..

Wﬁ WWH |

TP n (PCA to beamllne)

0.95



	Contents
	Page 1


